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(ii)
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(i)

sfiurisss Garererayb. HFsULS 6o Gapuligpluder, aps
serTarenTLLTeriiLLd o L arquirgs GgfellsEsab.

2 Beow oesy sopUuY owlamar wlGCWL P USDHGLD
g &CsTReushGL LuaTUBSS CouamBb. ULBIGET elenTelSnE
Cuendled Liwemi(NGSeLD.

(1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@Sl - 1/PART -1
S|EOTFHZ aﬂmna;a;@&@m eflenwiefl&seyLb. _ 15x1=15

CerGssuiul Herer Bret@E wrHm el safle LIS]&}GL]LD eF D L 6m LW
lewLenw s CasrpshisHs GHUELGLear el timatynd Csrgg

GT(LPSLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. ep Deniufleneouier Adssrafsr efssiinl L oma @entCeuafl wdllily :

(S 11V (<4) 0.7 eV
(@) 1.1 eV (FF) 07V
The value of forbidden energy gap for Si at room temperature is :
(a) .11V (by 07eV
() 1l1leV d 07V

2. g Ayl &GHb Wer@ubdrbd 240 V -@é QewduBdng. <isan wWeasen 120 O
eraled, igen Hlmen :

() 240 W (<21,) 400 W

(&) 480 W () 2W

‘A toaster operating at 240 V has resistance of 120 {). Its power is :
(a) 240W (b) 400 W

(c) 480 W (dy 2w

3. @O J@eambd LC sphléd NaCGsasduier oeter GQu@mn Wergnrl.lb Q i, @GLb.
Dperearg Wer wbHpL SThalLomsald Fowrs GCeolsslnBn Curg,
el L ddlem L :

(o) & () 2 @ (m) %

In an oscillating LC circuit, the maximum charge on the capacitor is Q. The charge on the
capacitor when the energy is stored equally between the electric and magnetic field is :

Q Q Q
(a) 7 (b) > © Q (d) NE

4. gafllflen GQeuafiCubm pdwed 3.313 eV Qararr g 2 CorsLiurinter Lwer

Qar das Henaberbd :

(1) 6000 A (e24) 4125 A (@) 20625 A () 3750 A ‘
The threshold wavelength for a metal surface whose photoelectric work function is 3.313 eV :
(a) 6000 A (b) 4125 A © 20625 A (d) 3750 A

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377



user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XII - MARCH 2024


"XIl - MARCH 2024 3 7417

epenny WaCaadlaer LSSl 2 dreteurmy p&Carent aligeuembliled) QleparTEsL-
vl @ererar. A wombd C pdw yetaflaersdlan_Gu 2 drer @eermorbm OGTGCSEEGS
Speir :

(1) 4 pF (<) 2 uF (8) 8 pF (FF) 6 wF

Three capacitors are connected in triangle as shown in figure. The equivalent capacitance
between the points A and C is : | '

4 nF
4*1,13\/ 4 uF

C

() 4 uF () 2 pF () 8uF (d) 6 pF

@Ml Wlenseven s&g1eusHan g LiuenLuilé QFuOLGHEDSI.
(<=1) qeafl GaurébLm G]&u_llsburr@ (<s3) efreued

(@) eardullen Lmiey (rr) WM GlenerTLiL

The principle based on which a solar cell operates is :

(a) Photovoltaic action ‘ (b) Diffusion

(c) Carrier flow (d) Recombination
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7.  SesCuriy veamleean Qupp ew s58en mgﬁl@u@ss’ugfn gatlufler Geusib,

dlenauelareupmier ergenens sribg erearg) ?
(1) Ure|b gemeno
() dgen gaflstledley
(&) @Lagmgu Qumrmisg geflepadder @mésaﬁb
() iper smeferd
The speed of light in an isotropic medium depends on :
(a) the nature of propagation
(b) its intensity
" {c) the motion of 'the source w.r.t. medium

(d) its wavelength

8. ananps sime geaflar anbsliysHean eramodiiy 3%10-6 T erafled, BjHei
BletegHleir 1L eremmen ?

(<21) 600 Vm~1 (<2) 100 V1

(E) 900 Vm~1 (FF) 300 Vm~1

If the amplitude of the magnetic field is 3 X 10~ 6 T, then the amplitude of the electric field for
a electromagnetic wave is :

(@) 600 Vm~1 () 100 Vm~1

() 900 V™! (d) 300 Vmm~—1
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‘¢ Berapd ‘P &THS HMmUUSHped QaraT FLLSTHSW erm ULSHO
&g weTemeungy efled Cumeny eumaTssLILLHETeTg. FLL saETHSSHen L Srbs

Qoweoa Snuus dpeler oo :

(@) 2 P (@)Pn (@) 3P ()

A bar magnet of length ‘#" and magnetic moment ‘P_” is bent in the form of an arc as shown
in figure. The new magnetic dipole moment will be :

4w

@ 2P ® P © %P @

@@ Qgri RL s&hiled, WengenL opib LlengrerT e LolamomiiL] @ramHLd SIS
2 @reman. &mibled Wlenan(pss Caumur® woHmib WerGearm_Lib @erl G 2 6arer &L

Geumur(® :

(=) § (=) § (&) 5 (™) 3

In a series RL circuit, the resistance and inductive reactance are the same. Then the phase
difference between voltage and current in the circuit is :

@ % e 7 @ Zer @ 3
[ &@ins / Turn over
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11.

12.

13.

q; LHOL g, Hw Crmblenar L erey QsTearL Qm @Cr wrfwurer
enasLg&I1 Lbgisaflen erowikiser v Gan Oeuefludd Wfl&slu_ (Herearer. oeuhenm
gerGpreLreny Cgr_& Qeligieih’ § Yerart <1Gs B Gaiafiude 9055 eneudasi-
umSlapen erafler, DupPnE Qe Cuwirar elens :

(=) pemerLs e flsors GméELD

() perreu el Genmeurs @méEmh

(@) &

() =iGgwere) Gméetd

Two identical conducting balls having positive charges q; and q, are separated by a center to

center distance ‘t’. If they are made to touch each other and then separated to the same
distance, the force between them will be :

(a) more than before
(b) less than before
(c) zero

(d} same as before

n=1&ppLLT®ssE Swalurss DiWssn 1224 V Qarear H - wrflfl sigpelen

DI GTEHT :

(=1) 3 ()4 (@) 2 (F) 1
Atomic number of H - like atom with ionization potential 122.4 V for n=1 is :
@ 3 (b) 4 (© 2 (d) 1

gafluflen gmssmols ugmiamen GeuefliL@Egb Hl&pey :

(1) paflsdizped (<) GOEELH eflenarey
(@) serefemerey (Fr) ellefiby elemeray
The transverse nature of light is shown in :

(a) scattering (b) interference

(c) polarisation (d) diffraction

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XII - MARCH 2024


XIl - MARCH 2024 v 7417

14. FHiGsmed Ll auflunrss QFoab gefl :
(31} Wpeugid serellenere) Banlwb
() L@ serelleveray SienLujid
(@) Betail i bras serellenere] <jenLub
(/) sermeflanene| jenLwirg
Light transmitted by Nicol prism is :

(a) plane polarised

(b) partially polarised
(c) elliptically polarised
(d) unpolarised

15. Wiy Sieesmer shsHumrs wartwmdpser :

(1) YU gemevle (=),) srerym Crres_Clgge
(8) erleumi(h LFQFa (r) Guofl Sly,f

The gravitational waves were theoretically proposed by :

(a)  Albert Einstein (b) Conrod Rontgen

(c) Edward Purcell (d) Marie Curie

LGS ~ 11/ PART - 11
GOy : amaCuew n NamssErss el wealsseb. eflam oar 24 -&@&
sLLmuwns allewell&sab. . 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.
16. &MHESS SWSHD ETENDITE) 6TEIET ?
What is meant by hysteresis ?

17. wredler afidentiis Fnmis.
State Malus’ Law,

18. flene Wemam(PSHId - GUenTWIMIGSELD.
Define Electrostatic Potential.

19. om Cwrrer 2 Gorss slwrerg 4 mWb umub Gsrar SThsLLSMS 0.4 s
Crrgdler sL&dlngl. s grawr Dul L Wenaflé@ eSlensufien erawndilienis
ST

A straight metal wire crosses a magnetic field of flux 4 mWb in a time 0.4 sec. Find the
magnitude of the emf induced in the wire. :

B [ Slys / Turn over
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20. £0uis efenenelen LweTUTHDSET WTeneu ?
State the applications of Seebeck Effect.

21. @@ sglflwss wrdfllber sier g s 5.01 Briser. igear Hasey wrHledamuis

SE Sl (.

The half-life of radioactive sample is 5.01 days. Calculate the decay constant.

22, DGNETHS BIEHESEET ETETDHTED 6TEes ?

What are electromagnetic waves ?

23. gmiLefFEe eTennTed CTela ? BIFEN UNSHET WiTenal ?

What is meant by biasing ? Mention its types.

24. 150 cm Gelwggnrbd Csream. samerrmigwre Gelwliiu’ L Qeeaade Spemers
&S '

If the focal length is 150 cm for a lens, what is the power of the lens ?

U@l - 111/ PART - 111
GuyY : amaCued um damssErse o wallssan. efamr eram 33 -5
SL_Lmuwnrs eferi_weldse|b. ' 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. Slor* (BY) Aevgey Plapefienen crRsgsssT B clleTéss.

Discuss the Beta® (B*) decay process with an example.

26. 0.5 mm? GO&E Qe @luurliy GsrarL smlrésbiGule, 0.2 A SeTaydrar
WerGerm L b uriflmg. SiFsrlrs sbiuliéd e der LD erosl_yrenset e
SILT5E) 84%x10% m™3 erafled GésL o erawsiyraflen Guliusdms Cassmss
S (.

A copper wire of cross-sectional area 0.5 mm? carries a current of 0.2 A. If the free electron

density of copper wire is 8.4x10% m™~3, then compute the drift velocity of free electron.
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28.

29.

30.

31.

32.

33.
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RemD @y QFTL(Hé Qaramymé@h CaaevsEhdsrear AFr@uUwen @Gatllwg
girsdnsren Fwemurl evL 1 QLS.

Derive the equation for effective focal length for lenses in contact.

SenrGerm L o amidpener euedFumsseyn. sroeuCermbi L fer WearGerm
2 amidlpener flaflsgd euflparnsamensd sams.

Define current sensitivity. State the factors which increase the current sensitivity of a
galvanometer.

50 mW Amegid 640 nm i@ fanapid Qe Gasit aflaBhs G eamyse
TEgemen o GUITLLmensen GeuatiiL@ibd ?

How many photons per second emanate from a 50 mW laser of 640 nm ?

auflégmmefien Herworang sigen el gws Al Quilug eransd smH, Dger
LBl eg a6 ereimentiDaTan ST ent & SHelssa)L. |
Derive the equation for inductance of a solenoid. Assume that the length of the solenoid is

greater than its diameter.

GNEEL0 demeteyd@Eh, eleafiby efeeraysi@n e drer CeupurGser wreneu ?

What are the differences between interference and diffraction ?

Sa@id ellSulledlmbg srev efldlenwis Glumis.

Obtain Gauss law from Coulomb’s law.

GaAsP @erm sLgdullenmed 2 (peunrssliul L LED -adl@mpa Qeueflliu@h geflufier
smofasams samWiyssan. @QHss GonsLsdullen lassiul L g nme
Qe Caiell 1.875 eV . Caaluu@n geafluiiar fipsemsyn GHLAGS.
(h=6.6x10"2 Js eren& CQ&mena). |

Determine the wavelength of the light emitted from LED, which is made up of GaAsP
semiconductor, whose forbidden energy gap is 1.875 eV. Mention the colour of the light
emitted (Given h=6.6x10734 Js).
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GO : SewenEg NeEaErs@Gw elanwelsseab.

Note :

34.

35.

10

XIl - MARCH 2024
U@ - IV/ PART - IV

Answer all the questions.

(=) erefln meawGeanradl geandlenar alleufggl, arenwiiLeretl GelwliLBsgiFe
wHHLL Fuayblowd GeNwLuBhssgend hHuBD a@u@u@&&ma@asa;rrm
soarurhsear: GLms.

JCILVM: 1
(<) B sweandspeanl vwenuhss CGesflurg Waseamemu sramums 6H6TsEEs.

(a) Explain about simple microscope and obtain equation for magnification for near point
focusing and normal focusing,.

OR

(b) Explain the determination of unknown resistance using metre bridge.

(1) nwl-sraril. fdeowt twaTu@SH, WearGarmiL b uTyb el L allgeud

soUEsmeflen Fs auPNCW gm yaatwtled ghubd srpsULoGMmSE
serEdl(Hs. Fmetler eowwsHle sTHSULOSSDSTT FWETUTL L 6T(LHSIS.
ENTMAVE )

(=) wlul Lsb geahler Hevswrhps Caramsdparer soamur’ el e mheilsg,
DG mBE prinl L &b Qeicul Herer GQurapeflen geafleflasd cramanewts
srepTLgDeTer GCarencuenil aumel&sa|w.

(a) Calculate the magnetic field produce(i at a point along the axis of the current carrying

circular coil. Write down the equation of the magnetic field at the center of the coil
using Biot-Savart law.

OR

() Derive the equation for angle of deviation produced by a prism and thus obtam the
equation for refractive index of material of the prism.
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36. (1) 5Ebs Nerssmisiener geneveaflar gpaflber Foarum a1 CQumps.
| Sleve0g|
(=) lengnemi & &;_i);f')]d) Wenenpss Ceumgur® womb WBerGarmid Gart Cuw
8 6T &L & GeT_TenLis STers. SLL DMID HeNe) eUENTLILBISENET U],
(a) Obtain Einstein’s photoelectric equation with necessary explanations.

OR

{b) Find out the phase relationship between the voltage and current in a pure inductive
circuit. Draw the phasor and wave diagrams.

37. (1) ufifCleuanr uaGUDDESen perrepigeT WHMLD euFbLsmer auflesiLBFSIs.
S|6060F)
(=) <pbPufen spm 69506 CosmGaed Aaiis wrHnsams eforsss.
(a) List out the advantages and limitations of frequency modulation.

OR

(b) Explain the Maxwell’s modification of Ampere’s circuital law.

38. (=) Bem @mpenan gpemhlerTed, iFeot @{é&é;@&ffgq_ei) @ yerefludled erpu@ibd
WOISTLIOSENSS STERTS. : | '
{60V F]
(<2)) DIEMSHTH 2 e TRMIE eTaanm ? ganliurenseT, &L HULRSFID SeHTHEHET
oHpbd Gefltells@n enwiy undl GOlLY eTpEIs.
(a) Calculate the electric field due to a dipole at a point on the axial line.
OR

(b) What is nuclear reactor ? Write note on Moderators, Control rods and Cooling system.

~-00o0-
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DIRECTORATE OF GOVERNMENT EXAMINATIONS, CHENNAI- 6
HIGHER SECONDARY SECOND YEAR EXAMINATION - MARCH - 2024

PHYSICS KEY ANSWER

NOTE:

1. Answers written with Blue or Black ink only to be evaluated.

2. Choose the most suitable answer in Part A from the given alternatives and
write the option code and their corresponding answer.

3. For answers in Part — Il , Part — Ill , Part — IV like reasoning , explanation,
narration, description and listing of points, students may write in their own
words but without changing the concepts and without skipping any point.

4. In numerical problems if formula is not written, marks should be given for the
remaining correct steps.

5. In graphical representation, physical variables for X-axis and Y-axis should be

marked.
TOTAL MARKS : 70
PART-l '
Answer all the Questions : 15%1=15

Q.NO | OPTION TYPE-A Q.NO. | OPTION | TYPE-B

1 a Photo Voltaic action 1 c 1.1eV

2 c [900Vm” 2 c |480W

3 c |480W 3 a QN 2

4 a 3 4 d 3750 A’

5 c Polarisation 5 d 6 uF

6 a QA2 6 a Photo Voltaic action

7 d 3/m P, 7 d lts Wavelength

8 d [lts Wavelength 8 ¢ |900Vm

9 b /4 9 d 3/t Py,
10 a More than before 10 b nl/4
11 d |6uF 1 a | More than before
12 d |3750 A° 12 a3
13 a Plane polarized 13 o] Polarisation
14 a Albert Einstein 14 a Plane polarized
15 c 1.1eV 15 a Albert Einstein

().
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Answer any Six Questions : Q.No. 24 is Compulsory. 6%2=12
ANSWER
ano| MARKS
—6 | The Phenomenon of lagging of magnetic induction behind the | 2 T
magnetic field.
(or) 2
Hysteresis means ‘lagging behind"_ 1
17 | When a beam of plane.polanz_ed light of Intensity I, is incident on
an analyser, the intensity of light | transmitted from the analyser |
varies directly as the square of the cosine of the angle 6 between
the transmission axes of polarizer and analyser, 2
(or)
| =l,cos* 8 (Equation only)
18 | Electric potential at a point is equal to the work done by an external 2
force to bring a u_nlt positive charge with constant velocity from
infinity to the point in the region of the external Electric field.
(or) 2
s (P 1 gq
V,=—[_E.dr (or) V= pm 1
19 M d¢ V2
dt
4% 103 %
Y 2
=10 x 1073V (or)10mV 1
(If unit is not mentioned reduce ¥ mark)
20 1. Thermo electric generators
2. In automobiles to increase fuel efficiency
L 3. Thermocouples and thermopiles 2 2
(Any two points)
21 [, _ 06931
= Ti ' Y2
3 0.6931
~ 5.01 X 24 X 60 x 60 7
=1.6 X 1075571 1
G (or)
0.6931 S 2
—_— L 1
T1 G
2 :
0.6931 GREEN GARDEN MATRIC. HR. SEC. SCHOOL| 1,
= 75_0—1—3-(1—5 Perundurai R.S.
; Y PH: 9486379461, 8344933377 1
= 0.1383 days™!
(If unit is not mentioned reduce % mark) —
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22 | Electromagnetic waves are non-mechanical waves which move | 2
with speed equals to the speed of light in vacuum. 2
(or)
If any one property of electromagnetic waves is mentioned 1
23 | Biasing means providing extemnal energy to charge carriers to
overcome the barrier potential and make them move in a particular 1
direction.
Two types of biasing 1
1) Forward bias
2) Reverse bias
(or) 2
The application of suitable DC Voltages across the transistor 1
terminals is called biasing.
Modes of biasing 1
1) Forward active
2) Saturation
3) Cut off
f
=2 i i 2 M
P=1 (). Toowan—= (o) P=1% 72 ,
P=067D (or) P=:iD 1
(If unit is not mentioned reduce % mark)
PART Il
Answer Any Six Questions : Q.No. 33 is Compulsory 6%x3=18
Q.No Answer : Marks
25 | Atomic number decreases by one and mass number remains same 11
A¥ > , ¥ +et + v 1//2
P - n+ et + v (or) Explanation
22Ng — 2 Ne+ et + v (or) Sodiumis converted into neon 1| 3
through p* decay (or) any other correct example
.——1—"/—_“
26 ||= neAVy, (or) Vg= e
0.2 1 3
T 84x10%8 x1.6x 10712 x 0.5x107° 1
V; =0.03 x103ms™?

(If unit is not mentioned reduce 14 mark)

.(3)--
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27

1 1__1
v u&fi
1 1__1
; V'_fz
1 1 1 1
e —=
vVou fi f
1 1+1
ok R
The deflection

galvanometer. Current Sensitivity of
1. Increasing number of turng N

i Increasing Magnetic induction B 4xY,
3. Increasing the area of the coil A

Diagram with Explanation\\\j\\

Ya
Va
Y 3
Y
Produced per unit current flowing through the
galvanometer increased by 1

3
4. decreasing couple per unit twist of the Suspension wire K
(or)
(Equation only: 1 =2 (or) Ni?(or) ol ) 1
# Pa ‘ ey amay

~F “he 1

50 X 1073 x 640 x 19-9
T 6626 X 107 % 3% 7g 13
N = 1609.8 x 1014g-1

(or)

N =1.61x 101751

If unit is not mentioned reduce pA mark)
Diagram (or) explanation

B = poni (or) g
Nop = un241;

No, =1L

L = pn24]
(or)

L = un24;

=BA = (Hgni)A

(4)..

HOOL
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Interference Diffraction

1 | Equally spaced bright and dark | Central bright is double
fringes the size of other fringes
2 | Equal intensity for all bright | Intensity falls rapidly for
fringes higher order fringes

3 | Large number of fringes are Less number of fringes
obtained are obtained

3x1| 3

32

Diagram (or) explanation

o =§E.dA (or) ¢.= $EdA cos 6

6c= $EdA (o) o= E$dA
0 = L2 x 4mr? (or) E= Qorzand ¢ dA = 4nr”

T 4megr? 47e,
Q
¢E =

Y2
Yz

A 3
72

33

£g

h A h
Eg= 7 (o) 2=¢

6.6 x 1073% x 3 X 108

1.875 x 1.6 x 101
A = 660nm (If unit is not mentioned reduce %2 mark)

8

Red colour light is emitted

%
%2 | 3

Answer all the Questions

PART -V

5x5=25

Q. No

ANSWER

Marks

34
(@)

Simple microscope
Explanation

Near point focusing - Diagram
Explanation

= B
Uptom=1+ -

Normal focusing - Diagram
Explanation

Uptom =%

(OR)
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b) | Diagram ”-L_/._.s’i‘ 1 7
K Explanation r“:—?",-j 1
P R 1A L“Z"“’L:::’::*'*“
—_———=— == 1
Q S rJB
P_N_k °
Q JB 1— I 1
P=qQ. E 1
35 | Diagram N
(a) | Explanation of Diagram and component
splitting . Y+,
o _ Ho Idix¢
dB = 4:' r?
(or)
_ Mo Idlsin®
dB =2 —fzi f 1
=gp° dB = Ho 1!
If6e=90 dB—d’T"r Z )
R _ Ml cdl )
From B = - fr—zsinm}
5
toB=Hl__R ¢
b 2 (R2+z2)°/2 K % 1
(OR)
‘B’ — HoNI R2 -~
2 (R2+z2)°/2 k Y,
508= R
; 1
- OR
(b) | Diagram and Explanation :
upto d = (iy + ip) — (i +rp) 1
upto d = (iy + iz)—- A 1
Ve
fisv=i; =i r=r,=
M1 =n2=r (or) Graph
Ve 5
= AsD
A 2
=3 1
By applying i ,
- Yﬁ_g In Snell’s law
=—12)
O sin (A/Z) 1
..(6)..



user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XII - MARCH 2024


XIl - MARCH 2024

36 | Diagram 7
(@) | Photon energy = work function+kinetic energy 1
(or) Explanation
hv= @g+ 5 mv? 1| 5
At v = v, (threshold frequency), Kinetic energy
of electron is Zero 1
h.VO = G)Q
hv=hy, + % mv? (or) Equivalent Equation 1
, (OR)
(b) | Diagram and Explanation 1
S di 1
JE v, dt : _19}(,,;-6{:-'
di = ="sin wt Bt - v | B
1= .‘.’ﬂ i T j
i =-=sin (wt = T/5)
(or)
upto i = I sin (wt — ™/5) 1
Current lags behind voltage by ™/, or 90° iy,
2
Phasor Diagram and wave Diagram Yot Ve
37 Merits
(a) e« Decrease in noise [or] increase in signal noise ratio
e Operating range is large
e High transmission efficiency
e Broad bandwidth ' 3x1 5
o Better quality (Any Three)
Limitations
e Requires wider channel
e FM transmitter and receiver are more complex
e Costly 2%1
e Compared to AM, FM covers less area (Any Two)
(OR)
(b) | Diagram or explanation

fg.(—{i = ”OiC

Diagram or explanation
fﬁﬁ:o

Diagram or explanation
¢y =$E.dA=EA= =

€

, d 2 .
upto lg = & —‘%— or definition of displacement current

$ B.dl = polic +ia) (o0)

; d¢
= Polc + Hofo ';f“ (or)

. d [
= Holc + Hofo g7 E.dA
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- ———T r
e tion
—3g | Diagram and Explanatl P i m?mm FiF
@ . 1 _a p .40 AP T
Ev = Sneq (r-0)? } g s 1
] q Y S (g

Bu= are, (r + @)? |

. VZS
E:T()t -_— E+ + E—-

- q 41a
UptO ETOC = 4meg [(rz_aZ)Z] 1
5 2P ;
Eror = 4meyr3
p=2aqP &
(OR)
(b) | Nuclear reactor :
Nuclear reactor is a system in which nuclear fission takes place In
a self-sustained controlled manner. 2
Moderator
It is a material used to convert fast neutrons into slow neutrons. 1
Eg: water, D,0, graphite (any one)
Control rods
It is used to control the rate of the reaction. (or absorb excess
neutrons produced in a reaction) 1
Eg: Cadmium or Boron (any one)
Cooling System
Absorbs the heat — transfers to heat exchanger — steam produced ’
— rotates turbine — produces electricity.
Eg: water, heavy water, liquid sodium. (any one)
.(8)..
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